
MATHS

BOOKS - MBD NCERT SOLUTIONS

INTRODUCTION TO TRIGONOMETRY

Multiple Choice Questions

1. In a  


Find 

A. 

B. 

C. 

D. None of these

ΔABC, ∠B = 90∘ , AB = 24cm and BC = 7cm.

(i)sin A(ii)cos A(iii)sin C(iv)cos C.

7
25

7
24

24
25

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i4sHE8ICrSAQ


Answer: A

Watch Video Solution

2. In , right angled at B, AB = 24 cm, BC = 7 cm. The value of 

 is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

ΔABC

cos A

7
25

24
25

7
24

https://dl.doubtnut.com/l/_i4sHE8ICrSAQ
https://dl.doubtnut.com/l/_sCP7NDPmIUrO


3. In , right angled at B, AB = 24 cm, BC = 7 cm. The value of 

 is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

ΔABC

sin C

24
25

7
25

7
24

4. In , right angled at B, . The value of 

 is :

A. 

B. 

ΔABC AB = 24cm, BC = 7cm

cos C

7
25

7
24

https://dl.doubtnut.com/l/_8xOQ1A0vGbFO
https://dl.doubtnut.com/l/_3RrC5Xm4Xcsm


C. 

D. None of these

Answer: A

Watch Video Solution

24
25

5. If , then the value of  is

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

tan A =
5

12
cos A

5

13

12

5

13

5

12

13

https://dl.doubtnut.com/l/_3RrC5Xm4Xcsm
https://dl.doubtnut.com/l/_Q2ZfpLQjawpS
https://dl.doubtnut.com/l/_asbQIGVwKFZM


6. The value of  is :

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

1 − tan2 360∘

1 + tan2 360∘

cos 60∘

tan 60∘

sin 60∘

tan 30∘

7. If , then the value of  is

A. 

B. 

C. 

D. 

cos A =
7
25

tan A

25

7

24
7

24
25

25

24

https://dl.doubtnut.com/l/_asbQIGVwKFZM
https://dl.doubtnut.com/l/_rIBznwWAAUaK


Answer: B

Watch Video Solution

8. The value of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2tan 30∘

1 + tan2 30∘

sin 60∘

cos 60∘

tan 60∘

cot 60∘

9. If , then the value of  is :

A. 

sin A =
5

13
sec A

13

5

https://dl.doubtnut.com/l/_rIBznwWAAUaK
https://dl.doubtnut.com/l/_Z8Qexzh9G2Wt
https://dl.doubtnut.com/l/_0lK69XTFV5U5


B. 

C. 

D. .

Answer: B

Watch Video Solution

13

12

12

13

12

5

10. The value of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2tan 30∘

1 − tan2 30∘

tan 60∘

sin 60∘

cos 60∘

cot 60∘

https://dl.doubtnut.com/l/_0lK69XTFV5U5
https://dl.doubtnut.com/l/_CJZ5sR4oE18h


11. If , then the value of  is :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

cot A =
7
24

sin A

24

7

24
25

25

24

7
25

12. The value of  is :

A. 

B. 

C. 0

3sin 30∘ − 4 sin3 30∘

sin 60∘

sin 90∘

https://dl.doubtnut.com/l/_CJZ5sR4oE18h
https://dl.doubtnut.com/l/_WmLF6IybOyuk
https://dl.doubtnut.com/l/_IkHs1MXKmLsD


D. None of these

Answer: B

Watch Video Solution

13. The value of 5  is :

A. 

B. 5

C. 5

D. 0

Answer: C

Watch Video Solution

cot2
A − 5 cosec2

A

−1

14. If  then the value of  is :cos θ =
3

5
cot θ

https://dl.doubtnut.com/l/_IkHs1MXKmLsD
https://dl.doubtnut.com/l/_Ikpuk7N17QIx
https://dl.doubtnut.com/l/_zaNNpod1uIgB


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

4
5

3

4

4
3

15.  is equal to:

A. 0

B. 

C. 1

D. 2

Answer: A

cos 46∘ − sin 44∘

−1

https://dl.doubtnut.com/l/_zaNNpod1uIgB
https://dl.doubtnut.com/l/_6swq6tHFnEWK


Watch Video Solution

16.  is equal to :

A. 

B. 0

C. 2

D. 1

Answer: D

Watch Video Solution

cos2 20∘ + cos2 70∘

−1

17. The value of  will be :

A. 0

B. 1

tan 64∘

cot 26∘

https://dl.doubtnut.com/l/_6swq6tHFnEWK
https://dl.doubtnut.com/l/_8p8d86bx5E83
https://dl.doubtnut.com/l/_n3FZy0r2OPzh


C. 

D. .

Answer: B

Watch Video Solution

−1

2tan 64∘

18.  is equal to:

A. 1

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 60∘ cos 30∘

2√3

4

4
3

3

4

https://dl.doubtnut.com/l/_n3FZy0r2OPzh
https://dl.doubtnut.com/l/_TTiTjh62hSyK
https://dl.doubtnut.com/l/_0jbyqmTRXnNL


19. If , then the value of  will be :

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

sin θ =
4
5

tan θ

4
3

5

4

5

3

20. Find in the blank. 

.

A. 

B. 

C. 

tan2
θ = ....... − 1

cot2
θ

sec2
θ

cosec2
θ

https://dl.doubtnut.com/l/_0jbyqmTRXnNL
https://dl.doubtnut.com/l/_3wywx05xagcC


D. 

Answer: B

Watch Video Solution

cos2
θ

21. If , then the value of  will be :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

cosec θ = 2 tan θ

√3

2

1

√3

1

2

2

√3

22. The value of  will be:sin 39∘ − cos 51∘

https://dl.doubtnut.com/l/_3wywx05xagcC
https://dl.doubtnut.com/l/_FpWkslVf8sBF
https://dl.doubtnut.com/l/_YggWCYUBQWGH


A. 0

B. 1

C. 2

D. .

Answer: A

Watch Video Solution

−1

23. The value of  will be :

A. 

B. 0

C. 1

D. 2

Answer: B

cos 45∘ − sin 45∘

−1

https://dl.doubtnut.com/l/_YggWCYUBQWGH
https://dl.doubtnut.com/l/_z8SLgogzYBlY


Watch Video Solution

24.  is equal to :

A. 1

B. 

C. 6

D. 0

Answer: C

Watch Video Solution

6 sec2
θ − 6 tan2

θ

−6

25.  is equal to :

A. 

B. 1

cos θ × sec θ

−1

https://dl.doubtnut.com/l/_z8SLgogzYBlY
https://dl.doubtnut.com/l/_xO4OSaf4VrMW
https://dl.doubtnut.com/l/_wJuIW0v47tsb


C. 0

D. 

Answer: B

View Text Solution

2 cos θ.

26. If 15 , the value of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot A = 8 sin A

8

17

15

17

17
8

17
15

https://dl.doubtnut.com/l/_wJuIW0v47tsb
https://dl.doubtnut.com/l/_6ekmxTbwtbHM
https://dl.doubtnut.com/l/_cS8uAzuPT5mC


27. The value of  is :

A. 

B. 1

C. 0

D. None of these

Answer: C

Watch Video Solution

cos 38∘ cos 52∘ − sin 38∘ sin 52∘

−1

28.  is equal to :

A. 

B. 

C. 

D. 

2tan 60∘

1 + tan2 60∘

sin 60∘

cos 60∘

tan 30∘

sin 30∘

https://dl.doubtnut.com/l/_cS8uAzuPT5mC
https://dl.doubtnut.com/l/_4JWZEsXKgGDj


True Or False

Answer: A

Watch Video Solution

29.  is equal to :

A. 0

B. 

C. 2

D. 1

Answer: C

Watch Video Solution

(1 + tan θ + sec θ)(1 + cot θ − cosec θ)

−1

https://dl.doubtnut.com/l/_4JWZEsXKgGDj
https://dl.doubtnut.com/l/_EfIyoGhQfzfy


Very Short Answer Type Questions

1.  for some angle ''.

Watch Video Solution

' ' cos θ =
3

2
θ

2. state True or false and jastify  for all values of .

Watch Video Solution

sin θ = cos θ θ

3. ''cot A is not defined for .

Watch Video Solution

A = 0∘
' '

4.  can be for any angle .

Watch Video Solution

' ' sin θ =
3

2
∠θ' '

https://dl.doubtnut.com/l/_mROM4tZJ2AA2
https://dl.doubtnut.com/l/_2FDI6y9yRjHl
https://dl.doubtnut.com/l/_FiodAI44XLmn
https://dl.doubtnut.com/l/_3KD6A8CKcFHQ


1. Evaluate : 

Watch Video Solution

sin 18∘

cos 72∘

2. Evaluate 

Watch Video Solution

tan 26∘

cot 64∘

3. Evalulate : .

Watch Video Solution

cosec 32 − sec 58∘

4. If A, B and C are interior angles of a triangle ABC, then show that

.

Watch Video Solution

sin( ) =
B + C

2

cos A

2

https://dl.doubtnut.com/l/_z0A3rEn9BL7X
https://dl.doubtnut.com/l/_boCQur6duHIO
https://dl.doubtnut.com/l/_xtTOGoI2QJpV
https://dl.doubtnut.com/l/_C5InU30e9zhb


Short Answer Type Questions

5. Find the value of .

Watch Video Solution

tan 25∘

cot 65∘

6. Find the value of .

Watch Video Solution

cos 42∘ − sin 48∘

7. Express  in terms of trigonometric ratio of angles

between .

View Text Solution

cos 85∘ + cos 75∘

0∘ and 1.7∘

https://dl.doubtnut.com/l/_sXNAmJeA5dDv
https://dl.doubtnut.com/l/_6U0QRxJ9MJVK
https://dl.doubtnut.com/l/_oeFJ1r66CfVy


1. If  and 

, then find the value

of A and B.

Watch Video Solution

tan(A + B) = √3

tan(A − B) = , 0∘ < A + B ≤ 90∘ , A > B
1

√3

2. If

, then find the value of A and B.

View Text Solution

sin(A + B) = and sin(A − B) = , 0∘ < A + B ≤ 90∘ , A > B
√3
2

1
2

3. If , where 4A is an acute angle, the find the

value of A.

Watch Video Solution

cos 4A = sin(A − 20∘ )

https://dl.doubtnut.com/l/_zffG2dHlNo5X
https://dl.doubtnut.com/l/_OKzwa2UGDS0Y
https://dl.doubtnut.com/l/_6sHaQigpG9Rl
https://dl.doubtnut.com/l/_TbiWjoDwWCKK


4. If  where 2A is an acute angle, find the value

of A.

Watch Video Solution

tan 2A = cot(A − 18∘ )

5. If , then find the value of tan A.

Watch Video Solution

sin A =
3

4

6. If  then find the value of .

Watch Video Solution

3 cot θ = 2, tan θ

7. Find the value of .

Watch Video Solution

cos 48∘ − sin 42∘

https://dl.doubtnut.com/l/_TbiWjoDwWCKK
https://dl.doubtnut.com/l/_Ah8jNzL2ZTrS
https://dl.doubtnut.com/l/_8ER5FTxsOqtk
https://dl.doubtnut.com/l/_Uyw49KfUqADJ


Long Short Answer Type Questions

8. Evalulate the following : 

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 60∘

9. Evaulate : .

Watch Video Solution

+ −
tan 45∘

cosec 30∘

sec 60∘

cot 45∘

2sin 90∘

cos 0∘

1. Prove that : 

Watch Video Solution

(cosec θ − cot θ)
2

=
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_ZGEunHQ1R8Sy
https://dl.doubtnut.com/l/_1Dywynwm6LGT
https://dl.doubtnut.com/l/_FmYvO4ZWXEwl


2. Prove that  =cosec A+ cot A using the identity 

.

Watch Video Solution

cos A − sin A + 1

cos A + sin A − 1

cos ec
2
A = 1 + cot2

A

3. Prove that 

Watch Video Solution

= .
1 + sec A

sec A

sin2
A

1 − cos A

4. 

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

5. 

Watch Video Solution

(sin A + cos ecA)2 + (cos A + sec A)2 = 7 + tan2
A + cot2

A

https://dl.doubtnut.com/l/_cyxquHfX0ruj
https://dl.doubtnut.com/l/_42HcVkGefqMh
https://dl.doubtnut.com/l/_EkHxtDljLppm
https://dl.doubtnut.com/l/_JHrZynXqNozM
https://dl.doubtnut.com/l/_A8R9bE0sqpET


6. 

Watch Video Solution

= tan θ
sin θ − 2 sin3

θ

2 cos3 θ − cos θ

7. 

Watch Video Solution

=
sin θ − cos θ + 1

sin θ + cos θ − 1

1

sec θ − tan θ

8. Prove that 

Watch Video Solution

√ = sec A + tan A.
1 + sin A

1 − sin A

https://dl.doubtnut.com/l/_A8R9bE0sqpET
https://dl.doubtnut.com/l/_y3P3pi8zFESB
https://dl.doubtnut.com/l/_BMd9xLp9lS1u

